Vypo €et pozéarniho zatizeni
p. Usek S CSN 73 0818
&. mist. mistnost m2 pn an Sxpn |Sxpnxan| pn an ps as a b pol. | m2os | sou€. | osoby
N 1.01
01 |zadveri 10,74 5 0,8 54 43
02 |wWC 2,8 5 0,7 14 10
03 |koupelna 3,31 5 0,7 17 12
05 |hlL.uzavér vody 14 5 0,8 7 6
06 |cvicna kuchyné 20,15 30 0,95 605 574 223 3 7
07 |knihovna 20,03| 120 0,7 2404 1683 34 2 10
08 |zadvefi 6,48 5 0,8 32 26
09 |wcC 2,55 5 0,7 13 9
10 |wcC 24 5 0,7 12 8
11 |pfednaskova m. 40,83 20 0,9 817 735 12 1,5 27
12 |vytvarna dilna 43,28 35 0,9 1515 1363 222 2 22
13 |zadveri 12,37 5 0,8 62 49
14 |sklad 3,86 60 1,1 232 255
15 |umyvarna 5,29 5 0,7 26 19
16 |WC 1,16 5 0,7 6 4
17 |0klid 0,84 5 0,8 4 3
18 |WC 1,21 5 0,7 6 4
celkem 178,7 5824 4803 32,6 0,82 10 0,9 084 1,10 66
pv=(pn+ps).a.b.c= 39,5 kg/m2 ...11.SPB c=1,0

vnitini hydrant :
S.(pn+ps)=

pocet PHP : 3 ks

7611

je mensi jak 9000, nemusi byt




